Dalkeith High School - Level 3 - HOMEWORK 18

This graph indicates a pilot's journey in
his light plane from Leeth back to Tilee.
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How long did it take to fly from
Leeth to Spoor ?
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How long did he stop in Spoor ? - \
Spoor
At what time did he set of f from \

Spoor to head to Tilee ? 120 AN

When did he arrive in Tilee ?

Calculate the speed of the plane :-
(i) from Leeth to Spoor.

(ii) on the runway at Spoor. \
Tilee

(iii) from Spoor to Tilee, 0900 1000 1100 1200
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France and heads off to Nante. 240 i
Nante at 1600.

The 1630 train leaves Nante ¥
and heads towards Lyle. 180
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How far is it from
Lyle to Nante ?
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At what time do the two
trains pass each other ?
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Calculate the speed of the

1600 train from Lyle. / b
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Calculate the speed of the
1630 train from Nante.
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